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Participant Name

Test Center Name Tech Testing Solution
Test Date 12/02/2021

Test Time 10:30 AM - 12:00 PM
Subject NTPC

* Note

Correct Answer will carry 1 mark per Question.
Incorrect Answer will carry 1/3 Negative mark.

1. Options shown in green color with a tick icon are correct.
2. Chosen option on the right of the question indicates the option selected by the candidate.

Q.1 Foarg o & weor & e PealefEa & 3wl @ dgwa w7 w1 e SemeraEe F8
Ans KF‘I' mmgﬁm

X 2 FATSeE FAH HHAGH Fed? T HF FoASAC I

v 3 ATSES AR FAYUAT HoAdl HIA FeSHT =i

X 4 FOreY SeEe

Question ID : 9489114035
Option 11D : 94891116138
Option 21D : 94891116139
Option 31D : 94891116140
Option 4 ID : 94891116137
Status : Answered
Chosen Option: 3




Q2 A3t B ol # F1 Fer 60 3T 40 G F S A we §1 AR C, S aveeer 3 w @ 30 o
H U THAT 2, 3 T F 55 A 3 B F T FE W A 1w §, S FE H QW WA F e G

F AT FM7?
Ans 4
X1 11=
3
<211 :
3
<3 11
v 112
3
Question ID : 94891112563
Option 11D : 94891150249
Option 2 ID : 94891150251
Option 3 ID : 94891150250
Option 4 1D : 94891150252
Status : Answered
Chosen Option : 4
Q.3 : e
ST H ITNI0T FTeited Rrem AT Far 9T S 87
e 1 sfrEdeeT
K 2 ST IHT
< 3. uairther
X 4 ATeIET
Question ID : 9489114010
Option 11D : 94891116039
Option 21D : 94891116040
Option 31D : 94891116037
Option 4 1D : 94891116038
Status : Answered
Chosen Option : 1
Q4 g umrems FEmEH # FIE 3 4 ¥ HR 3 Agead @ameed (LCM) H#iY Fgeaw wAEa® (HCF)
FT TOEES 1200 §| FEAHT F AT e HiEw
Ans 1. 60
v 2 70
<3 80
< 4 90
Question ID : 94891112553
Option 11D : 94891150212
Option 2 ID : 94891150211
Option 31D : 94891150210
Option 4 1D : 94891150209
Status : Answered
Chosen Option : 2




Q5 =l 2019 &, BFw Teea F WA g F Rl gEw Fr Rufy F g9 1T wom = g

Aerser BRETE Rwfaa 7

e X1 gEamETe (UCIL)
X 2. dreamEr (BARC)
X 3. AHETEAT (TIFR)
v 4 HETHT (DRDO)

Question ID : 9489114032
Option 11D : 94891116126
Option 2 ID : 94891116125
Option 31D : 94891116127
Option 4 ID : 94891116128
Status : Answered
Chosen Option : 4
Q.6 & + &
fafafla # @ #i7 7 F9e 7 ve Fsaw =9e sy 22
Ans o
K 1. =aex (Plotters)
X 2 i fAYaEST (Speech synthesizer)
v 3 THAT (Scanners)
X 4 9y (VDU)
Question ID : 9489114036
Option 11D : 94891116142
Option 2 1D : 94891116143
Option 3 1D : 94891116141
Option 4 ID : 94891116144
Status : Answered
Chosen Option : 1
Q.7 . N
SEAr 9T qOT EEAET @ U gl
Ans X 1120
<210
X 3120
v 40
Question ID : 94891112546
Option 11D : 94891150184
Option 2 ID : 94891150182
Option 31D : 94891150183
Option 4 ID : 94891150181
Status : Answered
Chosen Option: 3




uﬁ2§+3§+4§=x %,a‘rx-S%mrm?rmmm

Ans X 1. 4
v25
<36
K48
Question ID : 94891112551
Option 1 1D : 94891150201
Option 2 ID : 94891150202
Option 3 ID : 94891150203
Option 4 ID : 94891150204
Status : Answered
Chosen Option : 4
Q9 =fy frelr cafem &1 g #1 TEQU T w9 F @S 7 & § o 3% Fa @ e aw ¥ sl oW
T R =T wear 7
Ans :
X1 T TME QIN, HTTA ofF HT ITAT Feh
X 2 g7 TC GV, 3cdel o F & 3TAT FLh
v 5 e TR @w, Hade o & ITAET Flh
/< 4 fepe T IV, 3cde ofF & 39T Hldh
Question ID : 9489114016
Option 11D : 94891116062
Option 21D : 94891116064
Option 31D : 94891116063
Option 41D : 94891116061
Status : Answered
Chosen Option : 3
Q10 =g fomeq # w97 Y, fowsT T 9 F WY T T §, A GHY 9E H @ 7€ F
DFJN : EDMJ :: OWHK : 7
Ans X 1. QCFY
v 2 PUKG
< 3 XTGB
< 4 ARVU
Question ID : 9489114398
Option 11D : 94891117592
Option 21D : 94891117590
Option 3 ID : 94891117589
Option 41D : 94891117591
Status : Answered
Chosen Option : 2




Q11 4 4 tan7s°
1 —tan 759
Ans 2

X1.ﬁ
1
Xz.ﬁ

FT AT AT FTAT|

Vi3

X4.v’§

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

94891112573
94891150289
94891150292
94891150291
94891150290
Marked For Review
3

Q12 o sl & T WA G 1750 # A AN 3EF FU o & A REw & e @ aea B iR
F F Aea A wiawa ot w7 fw

Ans

X 1. 3635 3y 1%:“%

v 2 3675 3R 1%:“%

X 3. 3655 1%:“%

X 4 3555 1%:“%

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

94891112557
94891150228
94891150226
94891150225
94891150227
Answered

2




Q.13 f2v =1v et & & 38 @& 1 TS Hiew, S GrafatEg St # v fEa (2) F e 97 AT

TR
6, 12, 21, 33,7, 66
A K144
W2 48
<3 45
X 4 52
Question ID : 9489114383
Option 11D : 94891117532
Option 2 ID : 94891117531
Option 31D : 94891117530
Option 4 ID : 94891117529
Status : Answered
Chosen Option: 2
Q.14 : G i 2 7
&r I FEAHT H W Y FEIT HEAHT FT T4 F
2. 13, 29, 3. .57 1. 591
Ans 1. 57, 91
K22 57
<32 71
< 4 29, 91
Question ID : 9489114384
Option 11D : 94891117535
Option 2 1D : 94891117533
Option 31D : 94891117536
Option 4 ID : 94891117534
Status : Not Answered
Chosen Option : --
Q.15
e & T F gEy R # weeor F74r 27
Ans X1 F = AP
v2F =ma
1
< 3 F==-mv?
2
< 4 F=mc?
Question ID : 9489114012
Option 11D : 94891116046
Option 2 ID : 94891116047
Option 31D : 94891116048
Option 4 ID : 94891116045
Status : Answered
Chosen Option : 2




Q16 Prafafes # ¥ fFg FwE ¥ 7o TRRT awely | gEneR R o 9
i X g Tiems wERee

X 2 FEF F a@AF AP

X 3. gUF AT GEHAA

v . gadT TeEs TFEHe

Question ID : 9489114020
Option 11D : 94891116079
Option 2 1D : 94891116080
Option 31D : 94891116077
Option 4 1D : 94891116078
Status : Answered
Chosen Option: 1

Q.17 =BT smm &, P, ATM &7 3997 & O &9 & gofiar & Q, 32 3f5T &7 392 &t awr
eI @ gar § AR R, 93w ¥ fw dF I 9 A & axfier ) == & @ 9'w ATM 3l
7T AR ot T IUEET F T, AR A9-a & v dF 9 e aet w oo 2

P R

z9

Q

as X1 6
X2 3
V4
X5

Question ID : 9489114403
Option 11D : 94891117609
Option 2 ID : 94891117612
Option 31D : 94891117610
Option 4 ID : 94891117611
Status : Answered
Chosen Option : 3




F garaEe W@ W] A § e

Ans X1
TIATY] EETATA WA Bl § T THAY] FAF B g ¢l
W2
TIHIU] HHF FA BT § R WA FedA= Bee g gl

X o TA HAE AR A FeTAA TAA g 2

K 4. AT FAE AR RA] FemE e @

Question ID : 9489114011
Option 11D : 94891116043
Option 2 1D : 94891116042
Option 31D : 94891116041
Option 4 1D : 94891116044
Status : Answered
Chosen Option : 2

O ot & FiF O Rew F FEE = T R
Ans  of 1.
§ifSeT-ge=s 7= #8T (Bejing-Hangzhou Grand Canal)
X2 gfeRr amelr FER
Aol A
X o HFe-aHeT O 7E

Question ID : 9489114024

Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

94891116096
94891116093
94891116095
94891116094
Answered

1




Q20 G et & dage o7 €T @aT &, 3 ¥ Rk = ST S

Ans

X 1. eEwEser (pteridophytes)

X 2 ¢fearPrEer (tracheophytes)
v ¢ grarerser (bryophytes)

X 4+ FPArEEET (gametophytes)

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489114015

94891116058
94891116060
94891116059
94891116057
Not Answered

O Fafar mERT 2T frw AR7 wE @ wee ¥
o T J#fR

X 2. FETEEH AT

K 3 eRT I AR

X 4 ProTH ART

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489114008

94891116030
94891116031
94891116029
94891116032
Not Answered




V2 & € gty # wehr e F Wl Fot F e e 82

ans X1, 720°
< 2 360°
< 3.1080°
v 4 1440°
Question ID : 9489114399
Option 11D : 94891117593
Option 2 ID : 94891117596
Option 3 1D : 94891117595
Option 4 1D : 94891117594
Status : Answered
Chosen Option : 4
Q23 A BARC Fw F 3:4:5F 3od # TR FS §| TG 37 For Twr 21,44,000 §, A B F=
foer e gem?
Ans X 1. 264,000
v 2. 348,000
X 3. 260,000
/< 4. 236,000
Question ID : 94891112558
Option 1 1D : 94891150232
Option 2 ID : 94891150229
Option 3 ID : 94891150231
Option 4 1D : 94891150230
Status : Answered
Chosen Option : 2




Q24 A B 3k C R & & e 10, 156 AR 18 RAr & 0 = e §1 TR F S v wy Few

Ans

FF = E, @ FO A | & o g seem?

1
X152
2
, 9
2
2
<39
<42
Question ID : 94891112561
Option 11D : 94891150243
Option 2 ID : 94891150242
Option 3 ID : 94891150241
Option 4 ID : 94891150244
Status : Answered
Chosen Option : 2
.25 s : 2o d
B frEma g9 T TFAR Rgea R & ge7 4 @ @afm 2
Ans XK e
< 2 FUFR
X 3 sifedr
v 4 HOTd
Question ID : 9489114009
Option 11D : 94891116036
Option 2 1D : 94891116034
Option 31D : 94891116033
Option 4 1D : 94891116035
Status : Answered

Chosen Option :

1




6 7
Ans 1
.
460
1
X2 _—
560
1
v —
420
1
360
Question ID : 94891112548
Option 11D : 94891150190
Option 2 1D : 94891150192
Option 3 ID : 94891150191
Option 4 1D : 94891150189
Status : Answered
Chosen Option : 3
Q.27 g smient A #R B = wer: 12,000 H 218,000 r §=i & 1Y UF wEwd % FRm st TEe 9y
F Ha H 71,800 FT A1 FAEN A F B F Ao gl doT REAT A FfHT)
Ans X1 3720
/< 2 31,000
'3 21,080
< 431200
Question ID : 94891112555
Option 11D : 94891150219
Option 2 ID : 94891150217
Option 3 ID : 94891150220
Option 4 ID : 94891150218
Status : Answered
Chosen Option : 3
Q.28 : 3
frrafafea acat & arfcas JOMIHAT F1 FE F9 F4T 82
Ans o 1. LikNa<K<Rb<Cs
< 2 Li>Na>K>Cs>Rb
« 3 Li>Na>K>Rb>Cs
# 4 Na<K<Li<Rb<Cs
Question ID : 9489114013
Option 11D : 94891116052
Option 2 ID : 94891116050
Option 3 ID : 94891116049
Option 4 ID : 94891116051
Status : Not Answered

Chosen Option :




Q.29 Fwr A, v ¥F 40 min H o THT § 3K 79 B 360 ¥ F 60 min F @ F wFHar §1 oy St

T T & WAY 9 G A1 &, df ¥ B e # o A 58T A S|

Ans X 1.125 min
#2150 min
#3100 min
' 4 120 min
Question ID : 94891112562
Option 11D : 94891150248
Option 2 ID : 94891150245
Option 31D : 94891150246
Option 4 ID : 94891150247
Status : Answered
Chosen Option : 4
Q.30 ,
A e T gHEeReT gAH ¥ e 3erETr #7
42x(4+2)=(42x4)+(42x2)
Ans X 1. dcEHAS 0T (identity property)
X 2. TWE= 0T (associative property)
5. TERoT 7ot (distributive property)
4 g
# 4 T IUT (closure property)
Question ID : 94891112544
Option 11D : 94891150175
Option 2 ID : 94891150174
Option 31D : 94891150176
Option 4 ID : 94891150173
Status : Answered
Chosen Option : 3
Q.31 Fmmmait 248 3iv 868 T AR AT (LCM) 1736 ¥ 3951 Fgea® TAMaS# (HCF) 7 Hifaw
ans X1 1736
v 2 124
< 3. 868
< 4 248
Question ID : 94891112552
Option 11D : 94891150208
Option 2 ID : 94891150205
Option 3 ID : 94891150207
Option 4 ID : 94891150206
Status : Answered
Chosen Option : 2




%2 qurAEdr 3eeger T A O Y §Ea &7
M X FH He W TaEd (LED) wedt @ faeRor

v 2 TdEr (LPG) Faeere
K o At 7 sl Fewra

X 4. IHTOT TaEgEiRIoT

Question ID : 9489114040
Option 11D : 94891116159
Option 2 ID : 94891116160
Option 31D : 94891116158
Option 4 ID : 94891116157
Status : Answered
Chosen Option : 2
Q33 A ¥ 215,000 H1 G T TF TIET I FRAT B, & A AF 220,000 F G F TNY
A # AT g3 A 3 F A A B F A oy B s # fenfea gam
Ans X1.9:8
<210:9
v39:10
<48:89
Question ID : 94891112554
Option 11D : 94891150216
Option 2 ID : 94891150213
Option 31D : 94891150214
Option 4 ID : 94891150215
Status : Answered
Chosen Option: 1
Q34 g AfFTF A=1,B =23 s 9o & FAe... Z = 26 &, o F=fafam weeor @ A=
Fd FT
(127 (E 4 g) +8
Ans X178
v 2 81
7390
K473
Question ID : 9489114379
Option 11D : 94891117516
Option 2 ID : 94891117514
Option 31D : 94891117515
Option 4 ID : 94891117513
Status : Answered

Chosen Option : 2




Q35 g bm AT 350 ¥ AW 2@ A b F I 2 : 5 ¥ b - a F AN A P

ans X1 330
v 2 300
X 3400
< 4 325
Question ID : 94891112572
Option 11D : 94891150287
Option 2 ID : 94891150286
Option 3 1D : 94891150288
Option 4 ID : 94891150285
Status : Answered
Chosen Option : 2
Q.36 T AT H o1 g1 9T 9375m” ¥ SNGHA H 9T F & ¢ w2iey 31 A 94F T Fw oA 225
em X 10 em X 7.5 cm &, @7 30 #&W H 87 9T ¥ fraer 5 9 f1 =1 oy £2
Ans o 1100
#2150
< 3120
X< 4170
Question ID : 94891112566
Option 11D : 94891150261
Option 2 1D : 94891150263
Option 31D : 94891150262
Option 4 1D : 94891150264
Status : Answered
Chosen Option : 2
Q.37 g=er v swwr aEE &S g A § 3o R i HR 8 km wem ag e # T g@ T 6 kmihour
(FreiefeT/aen) @ o @ gisnl 10 Bime diss & a1, =7 Rig A @ et gr 77
Ans  of 1.7 KM
<29 KM
<36 KM
<4 2 KM
Question ID : 9489114401
Option 11D : 94891117604
Option 2 1D : 94891117603
Option 31D : 94891117602
Option 4 ID : 94891117601
Status : Answered
Chosen Option : 1




Q.38 T wR i TG & § B diee & o g, et #ik Reget w5 amies Svw &

Ans

w7 & o gerar ye e B Jr 2

v e arfee BT FIaEH
X 2 gafFa aTor Fww gaw

X3 gerT 7 I 9 AeeT

X 4 TET e BT

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

9489114041

94891116161
94891116162
94891116164
94891116163

Status : Answered
Chosen Option : 1

Q.39 ow u=wfEr 10 a9 # 2 7 & S ¥ FuneT s @ FAE & W A ue fhae aw & J

ar SreEh?
are X115
<210
X3 23
v 4 20
Question ID : 94891112560
Option 1 ID : 94891150238
Option 2 ID : 94891150237
Option 3 ID : 94891150240
Option 4 ID : 94891150239
Status : Answered
Chosen Option : 4
Q.40 =z =2 ¥ & TEIT Ao $rew, O 130, 305 3T 245 FF Fwfew F W w2, 1 3w 1 9w
|
Ans x 1. 6
<25
v 4
X a7
Question ID : 94891112549
Option 11D : 94891150194
Option 2 ID : 94891150195
Option 31D : 94891150196
Option 4 ID : 94891150193
Status : Answered
Chosen Option : 3




Q41 Pmfaf@d & & Fia @1 19 9RAT A% JW (Bureau of Indian Standards) 7 & 37

Ans

X 1. gEeE qUTET TR

2

T 3T # g gekad &= F e Fgws sfFaw i s
< 3.

G HT Bl seaeasarsT & fOrw 3aue g7

5 4

AT ATAF 9T FAT, Ieg ATl IS AT AT 37T TR FIT

Question ID : 9489114042
Option 11D : 94891116167
Option 21D : 94891116168
Option 31D : 94891116166
Option 41D : 94891116165
Status : Answered
Chosen Option: 2
Q42 FrmfafEa & ¥ Ea 9RT & SF-=10T e ARG afed FReA S BT oar?
Ans « 7 ﬂ ﬁ + ?
X 2 ST THTEAT
X3 REmE 9O
X+ e armeE
Question ID : 9489114031
Option 11D : 94891116122
Option 21D : 94891116123
Option 31D : 94891116124
Option 41D : 94891116121
Status : Answered
Chosen Option : 1
Q.43 i
afg V3tan20—-3=0 &, a6 F AT AT FHL
Ans x 1. 60°
X 2. 9Q°
W 3 30°
< 4 40°
Question ID : 94891112570
Option 11D : 94891150280
Option 2 ID : 94891150279
Option 3 ID : 94891150278
Option 4 ID : 94891150277
Status : Answered
Chosen Option : 3




Q.44 mE 2019 # 3ifEew & ve woT Twarg HET on, W ST (I=UROT - W) @ R 9w an) sw e

& FAT AT B
Ans X
1. gy
K 2 FHA
X 3 s
v
Question ID : 9489114006
Option 11D : 94891116023
Option 2 ID : 94891116021
Option 31D : 94891116022
Option 4 ID : 94891116024
Status : Answered
Chosen Option : 4
Q.45 -
‘d% 2T (bank rate) reg FT FAT HT g7
Ans x 1.
= 89 3% gErr TtfeTs dF #r U 71T 39a HUT W) s F e s &Y
X2
W@Hm#mﬁsﬁméﬁﬁﬁmmmzﬁﬁwmﬁaﬁmmm
Vs
FeaT dF garT AIfeTe d H U A 39S HOT W T A dTer 3= &
X
a8 Ganr SfFadt # T v o FHOT | e A a4 &
Question ID : 9489114039
Option 11D : 94891116153
Option 2 ID : 94891116154
Option 31D : 94891116155
Option 4 ID : 94891116156
Status : Answered
Chosen Option: 3
Q.46 ‘waUcEy F=Ta @l fsw (International Day of the Unborn Child) 87 a9 F HAIT F B
Ans x 1. 31 E
X212 A
<3 8 AR
v 4 25 AR
Question ID : 9489114004
Option 11D : 94891116014
Option 2 ID : 94891116016
Option 31D : 94891116013
Option 4 ID : 94891116015
Status : Answered
Chosen Option : 4




Q47 afy 31 RrEeR, 2015 1 THER o, & 1 e, 2020 F FaT 7 ¥ gAM?

Ans X
1. gfaEr
< 2 F@EErR
< 3 FETEER
W o TR
Question ID : 9489114385
Option 11D : 94891117539
Option 2 ID : 94891117537
Option 31D : 94891117538
Option 4 ID : 94891117540
Status : Answered
Chosen Option : 2
Q.48 gferg I 3T e HEFRe ot TaE W gu § watd € g 143 amredr § s af 75 et
S arEr Fr o4
Ans ¢
v 1. ATERT (Morocco)
X 2 HeSdr (Algeria)
X 3. gm&ar (Ghana)
X 4 ff&ar (Libya)
Question ID : 9489114018
Option 11D : 94891116072
Option 2 1D : 94891116069
Option 31D : 94891116071
Option 41D : 94891116070
Status : Answered
Chosen Option : 1
Q.49 zr gEwT Fast Hr FEA FAW 4 cm 3R 6 em #| fE 75 Fape & A9we 36am? §, & g
e &7 aramer 7 FfET
A i
" o1 16 cm?
< 2 36 cm?
< 3 49 cm?
< 4 25 cm?
Question ID : 94891112569
Option 11D : 94891150273
Option 2 ID : 94891150274
Option 31D : 94891150275
Option 4 ID : 94891150276
Status : Answered

Chosen Option :

1




Q50 Zfr cos(a+ B)= 0 ¥ arsin(a— p) Fr % & a1 =1 TFar gl
Ans X1 sina

V2 cos2p
< 3 sin 2«
< 4 cosPB
Question ID : 94891112571
Option 11D : 94891150283
Option 2 ID : 94891150282
Option 3 1D : 94891150284
Option 4 ID : 94891150281
Status : Answered
Chosen Option : 2
Q.51 v =ofeT v BT affs oo == #T @ W 97 99 F 87 5,000 $r ofr &1 S &=
% T 99 & 39 &, I 9= 35,600 g Fdr ¥ = #7 it & AT frew
Ans o 1. 129%
X2 13%
<3 11%
< 4 14%
Question ID : 94891112559
Option 1 ID : 94891150234
Option 2 ID : 94891150235
Option 3 ID : 94891150233
Option 4 ID : 94891150236
Status : Answered
Chosen Option : 1
Q.52 gy y & x%, 2000 & L & AT z 1 y%, 4000 & TU=T &, & x ¥ z & 97 @5y g
Ans X1 2z = Tx
v2z =2x
X
X 3.6z =
2
X4 6z-2 = 2x
Question ID : 94891112556
Option 11D : 94891150221
Option 2 ID : 94891150224
Option 3 1D : 94891150222
Option 4 1D : 94891150223
Status : Answered
Chosen Option : 2




Q53 grem mEee @ ¥ s 1838 # §¥ wefm @y W fw-few o g fw O

K1 oI oY, FERTST WTehd g, eseter
X > T A, TGRS WA g, 2
Vo A siferdls, FERreT R g, e o
X o #E semels, FERTST (OSAE g, YIRteT

Question ID : 9489114021
Option 11D : 94891116083
Option 2 1D : 94891116082
Option 31D : 94891116081
Option 4 1D : 94891116084
Status : Not Answered
Chosen Option : --
Q.54 vw mEanER Jg #r AT wFer 100 m 3T 80 m ¥ afy swE afET IRt AT 10 m Fr v TEA
Eﬂglé’mﬂﬁ‘rmg&n%, ar AT F SEwa AT HifEe?
Ans X 1. 3800 m?
< 23400 m?
v 3 3200 m?
< 4 3500 m?
Question ID : 94891112567
Option 11D : 94891150265
Option 2 ID : 94891150266
Option 3 1D : 94891150268
Option 4 ID : 94891150267
Status : Answered
Chosen Option : 2
Q.55 -
Aa ¥ AIY [8EEa (Peacock Throne) #ief ofehy F1aT aT?
Ans .
X . FEFAS & ook (Mohammad bin Tuglaq)
& 2. TS @T (Genghis Khan)
v 3 AT aE (Nadir Shah)
X 4 HEAS ME (Ahmed Shah)
Question ID : 9489114017
Option 11D : 94891116068
Option 21D : 94891116067
Option 31D : 94891116065
Option 4 ID : 94891116066
Status : Answered
Chosen Option : 3




A% fr ol T T AFARTRT § § F7 G B AT AL A7

e XK. Fg 7 o o afe

X 2 fodr Taeafagarery &1 39 Feadid (vice chancellor)

X 3 AfA=a wfRe
v\ grag
Question ID : 9489114028
Option 11D : 94891116110
Option 2 ID : 94891116109
Option 31D : 94891116112
Option 4 ID : 94891116111
Status : Answered
Chosen Option : 4
Q.57 qrezafy sk su-rSgafy @t Fr ey F oRa F Teguiy FFEAR FiT T E2
s X1 ol T 3reme
X 2 I AN
X s AfyAse gfae
Vo ST T T{ET AT
Question ID : 9489114029
Option 11D : 94891116114
Option 2 ID : 94891116113
Option 31D : 94891116115
Option 4 ID : 94891116116
Status : Answered
Chosen Option : 4
Q58 =g fawe @ wua #Y, Torme @Y 95 & @Y 54 @AY ¥, S @Y 98 % 99 9E @ B
IeT (Steps) : T (Staircase) :: Ba (Book) : ?
Ans E 5 )
1. FETATT (Stories)
X 2 2@% (Authors)
W o JEdRTerd (Library)
< 4 39-a1H (Novels)
Question ID : 9489114374
Option 11D : 94891117495
Option 2 ID : 94891117496
Option 31D : 94891117494
Option 4 ID : 94891117493
Status : Answered
Chosen Option: 3




Q.59 TfafEa & & fre 9 2019 & Bw war-affma-tww & & § w5 feper & seata fr e

Ans

X . Agaard TeEaryd AT
v 2 goEd AR el

X 5. Remm et
X ¢ mer e

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489114007
94891116025
94891116026
94891116028
94891116027
Answered

1

Q.60 s@3r (ISRO) = 2017 & 3y waor & shgfieer afey Fog ¥ Ueha Ure ¥ fras 3998 &1 w&qur &

Frem Fifdae wufam fomam a2
Ans 1100
v 2 104
X3 114
K 4101
Question ID : 9489114030
Option 11D : 94891116120
Option 21D : 94891116118
Option 31D : 94891116119
Option 4 1D : 94891116117
Status : Answered
Chosen Option : 2
Q.61 =3 w7 @ wite =AW (sffres) el e (Lake Ontario) 3T wi &1 (Lake Erie) & s firg
e
Ans &
# 1. T 9u9Td (Angel Falls)
« 2 FamEr 9ara (Niagara Falls)
# 3. §IAIS 99T (lguazu Falls)
< 4 TSA 991 (Rhine Falls)
Question ID : 9489114022
Option 11D : 94891116085
Option 2 1D : 94891116087
Option 31D : 94891116086
Option 4 1D : 94891116088
Status : Answered

Chosen Option : 2




Q62 zaret oY (Quattro Pro) B ST & FUE TR HFEaaT g7

A X1 e T@iweaTT (Database software)
X 2
TR dfesifReT HireaaT (Desktop publishing software)

X s g% Qraffer AreaTT (Word processing software)
v 4 m=efie @TFeauT (Spreadsheet software)

Question ID : 9489114038
Option 11D : 94891116152
Option 2 ID : 94891116151
Option 31D : 94891116149
Option 4 ID : 94891116150
Status : Not Answered
Chosen Option : --

Q.63 ma;m(A)ﬁm(mwemﬁqafsﬂ?aﬁ?ﬁﬁmmﬁrmnnﬁammmm
T T
FUA (A):
Tafr 3= TEOC fAwHE @I g 2
&HHOT (R):
ST HEAY Faa 1 ¥ ey F=17 ¢ 8 enfea @ e #

X1 A 3k R = mew § Ak R, A fr @ s B
X 2 A 3R R 2 3/meT &
v A FET E afFa R TeT §

X 4
A 3R R 2T g7 & 3T R, A #r T&r =ar=TT 9T 2

Ans

Question ID : 9489114394
Option 11D : 94891117573
Option 2 ID : 94891117575
Option 31D : 94891117576
Option 4 ID : 94891117574
Status : Answered
Chosen Option: 1




© sioiE s Tse (ILO) B T fRw a¥ gg o7

ans X1 1921
< 21909
V'3 1919
< 41931
Question ID : 9489114034
Option 11D : 94891116135
Option 2 ID : 94891116133
Option 31D : 94891116136
Option 4 ID : 94891116134
Status : Answered
Chosen Option: 3
Q65 zf p 3k q 1 FgEEA FATER (LCM) pq ¥, @ T p, g 2t =T
Ans X 1. + *
v 2 TSI §EOTT
# 3 QwE gEge
< 4 gF F§EOT
Question ID : 94891112545
Option 11D : 94891150180
Option 2 ID : 94891150179
Option 31D : 94891150178
Option 4 ID : 94891150177
Status : Answered
Chosen Option : 2
Q.66 L : :
T 1t Rereat 7 O HT9T ST &1 T99 |
Ans
X 1. 8% (Ice) - 9T (Water)
« 2 =T (Watch) - &= =187 (Clock)
K 3. g (Milk) - =1 (Tea)
X 4. %usT (Cloth) - &7 (Apparel)
Question ID : 9489114375
Option 11D : 94891117498
Option 2 ID : 94891117497
Option 31D : 94891117499
Option 4 ID : 94891117500
Status : Answered

Chosen Option: 1




Q.67 5
Uehel-hiTAeRT Tl @u=ig 378 & gl ST 2l
Ans
X 1. AT HUT (embryo)
2.
X 2 BRI (blastocyte)
K o g9 T (foetus)
W o GIAAA (zygote)
Question ID : 9489114014
Option 11D : 94891116055
Option 2 ID : 94891116054
Option 31D : 94891116056
Option 4 ID : 94891116053
Status : Not Answered
Chosen Option : --
Q.68 Trfafaa # ¥ frg IHTSET AFaaEE e & T & fow fiaesels saaam e g=dr
$gwe (Jean Henry Dunant) &g 93O &7
Ans » . .
X 1. 39T TarEeT Teaa (World Health Organisation)
X 2 f393 @eF FAFA (World Food Programme)
X 3
ToTT BRA B TS reT = (Global Forum for Disaster Reduction)
v -
ﬁaﬁv@w =T @ oA (International Committee of the Red Cross)
Question ID : 9489114033
Option 11D : 94891116129
Option 2 ID : 94891116131
Option 31D : 94891116132
Option 4 1D : 94891116130
Status : Answered
Chosen Option : 4




Q69 amdrdr (ICC) =W e fred &, 2019 #1 3m= # g3 am
A +
"X geEeE
13
X 2. et
3.
v 5 FaTses fETEA
X 4 siretaT
Question ID : 9489114005
Option 11D : 94891116019
Option 2 ID : 94891116018
Option 31D : 94891116017
Option 4 1D : 94891116020
Status : Answered
Chosen Option : 3
Q.70 s o . -
T ov Teeat 7 ¥ 378999 9T &7 9979 Fi|
Tagel, fEeeT, 3, % T
A
" TE R
X 2 P?-I"EET
X3 R
/< 4 3ITTEET
Question ID : 9489114376
Option 11D : 94891117504
Option 2 1D : 94891117501
Option 3 D : 94891117502
Option 41D : 94891117503
Status : Answered

Chosen Option :

1




H%ﬂﬂﬁf (Bees) : e (Honey) :: Fel (Flowers) : ?

v . G (Fragrance)
X 2 9gTEaT (Petals)

X 3. g (Plant)
< 4 Her (Fruit)

Ans

Q71 =7 RweT @ =97 wY, TOET S 9T F Ay @ FEY E, A G T H B T G

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489114396
94891117583
94891117582
94891117584
94891117581
Answered

1

O SafafRE § @ R O FEAE SR 309 AT 27

Chosen Option :

Ans x :
. 9
K2 gamr
v 3 e
X 4 spfaar
Question ID : 9489114026
Option 11D : 94891116103
Option 21D : 94891116102
Option 31D : 94891116104
Option 4 ID : 94891116101
Status : Answered
Chosen Option : 3
Q.73 : .
FaregHd H T F9m (Kaiga) fraer o gfaeg &2
Ans : ¥
v afaeh @T
X 2 GoreTafeaE WO
< 3 2 @A
x " i s i
Question ID : 9489114025
Option 11D : 94891116098
Option 2 ID : 94891116099
Option 31D : 94891116097
Option 4 ID : 94891116100
Status : Answered

1




Q74 == F 7@ FeR-afEH 1 AT wl 9F 5 m v, i A 77 mh ARk 3 m = s @, 9% aw

7% 3R 8 m o Ak 3F T T aw sae Aw B REr A E
Ans K1 3eaT

< 2 gfgurafEas
V5 FeR-IREH
<4 ofEs
Question ID : 9489114400
Option 1 ID : 94891117598
Option 2 ID : 94891117597
Option 31D : 94891117600
Option 4 ID : 94891117599
Status : Answered
Chosen Option : 3
Q.75
1275 &7 f&aar &rer, 816 & ssT 87
Ans ) 16
v —
25
48
y e
Zh
48
X —
72
16
Qs
24
Question ID : 94891112547
Option 11D : 94891150185
Option 2 ID : 94891150187
Option 31D : 94891150188
Option 4 ID : 94891150186
Status : Answered

Chosen Option :

1




078 Cafaf@a F O BT T 9T e 7 3agr a8 &7

Ans

X 1. == (WINDOWS)

v 2 THTE Hifkg (MS Office)
X = giAwFE (UNIX)

X 4 forseFm (LINUX)

Question ID : 9489114037
Option 11D : 94891116148
Option 2 1D : 94891116145
Option 31D : 94891116146
Option 4 1D : 94891116147
Status : Answered
Chosen Option : 2
Q77 v agdI FFT3:5: 7 : 9 F ¥ F | TE O F0T F AW AT Hw
Ans X1 60°
W 2 45°
< 3 36°
X 4 62°
Question ID : 94891112568
Option 1 1D : 94891150271
Option 2 ID : 94891150270
Option 3 ID : 94891150269
Option 4 1D : 94891150272
Status : Answered
Chosen Option : 2
Q.78
T=e@a st g HifET)
1-1+1-1+1-1+ ... (101 w&r a=) = ?
ane X1
#2100
<30
v
Question ID : 94891112550
Option 11D : 94891150199
Option 2 ID : 94891150200
Option 31D : 94891150197
Option 4 1D : 94891150198
Status : Answered

Chosen Option : 4




Q.79

—2008 2008
2020 2020
(B2) 7 x (B2) x2020 @1 AW A A
2000 2000
ans of 12020
<20
< 3220
< 42220
Question ID : 94891112564
Option 11D : 94891150256
Option 2 ID : 94891150253
Option 3 ID : 94891150254
Option 4 ID : 94891150255
Status : Answered
Chosen Option : 1
Q80 SrfafET & & Fi7 WEAT FHRET (Simon Commission) & TEET w&T oT?
Ans o
X 1. g dr-arge (Harry Levy-Lawson)
X 2 AT FEAA (John Simon)
v 3 JFF T TR (James A Scott)
< 4 ForHT Teer (Clement Attlee)
Question ID : 9489114019
Option 11D : 94891116075
Option 21D : 94891116073
Option 31D : 94891116076
Option 41D : 94891116074
Status : Answered
Chosen Option : 4
Q.81 = ¢ 2
HES & & HiAd TIr & &= dOFgx BFaar 3aus gar 22
Ans 1.6 AR
X2 3 AE
i3 8 AIF
<41 ay
Question ID : 9489114027
Option 11D : 94891116106
Option 2 ID : 94891116108
Option 31D : 94891116107
Option 4 ID : 94891116105
Status : Answered

Chosen Option :

1




Q.82 Frs iR F IR 3 e FFU v # s @ & R @t @ e ¥ R s s ) s

= =

o= (Skin), §2f24T (Bones), IWTEY (Cartilage), f&em@er (Ligaments),
Ans X 1. 3oifEer (Cartilage)

X 2 3fEerEer (Ligaments)

v 5 @@ (Skin)

X + g=fEar (Bones)

Question ID : 9489114393
Option 11D : 94891117571
Option 2 ID : 94891117572
Option 3 D : 94891117569
Option 4 D : 94891117570
Status : Answered
Chosen Option: 3
Q83 F2ow wftes 3% =f3aT (Container Corporation of India) gl
Ans > RO,
v YT AT & AT daled qreag, (PSU)
X 2
HRAT HAGMT FAATT FIAR0T & HTed Falesd Sewy (PSU)
< 3
T5F IREEA JR TIAE AT F HFET Feiea-| Freag (PSU)
X 4
AT TET THATET FUROT & 3aea eIl fieag (PSU)
Question ID : 9489114043
Option 11D : 94891116171
Option 2 D : 94891116169
Option 3 D : 94891116170
Option 4 ID : 94891116172
Status : Answered
Chosen Option : 2




ot @ F @ gEAT A& F sEH T §7
Ko

v 2 ATFEER e

X 3. ZEY ogTAr e (Tso Lhamo Lake)

<4 I

Question ID : 9489114023
Option 11D : 94891116090
Option 2 1D : 94891116091
Option 31D : 94891116092
Option 41D : 94891116089
Status : Answered
Chosen Option : 2
Q.85 #= ST v FAwE TGS F & AT oAt B s FAer 30 om AT 18 em & sy I
T & @ A gl 24 om §| TG EH FAGE UgES T 4w, UTF a9 ok SIGA & aE] g, af @ v
F ORAT TS AT
Ans  of' 1. 96 cm
< 2 66 cm
<3 75 cm
/< 4 87 em
Question ID : 94891112565
Option 11D : 94891150259
Option 2 ID : 94891150258
Option 3 ID : 94891150260
Option 4 ID : 94891150257
Status : Answered
Chosen Option: 1
Q.86 zq fig A & afERafPw #1 3R 4 m T ¥R Reg B W wge 55 A1e, 7@ S@OLIE IR I
IR P am R T RECR G IR s EH ARG iR 4 m o Rg D W
wge| g B 1 3l wwa & v 5wt few Rar & g fr Iww 2
Ao ofyem
< 2 Fear-atvas
X3 gF
LY
X o EfEoTaE
Question ID : 9489114389
Option 11D : 94891117553
Option 2 ID : 94891117556
Option 31D : 94891117554
Option 4 ID : 94891117555
Status : Answered
Chosen Option : 2




Q.87 farwlr frerw gz s # STYLE &' JBGCE for@m =am &, 3% gz &1 # HOUND &' forw wame foram

FATCET?

Ans 1. XWKED

v 2 HFCED
#< 3. BVSTP
# 4 QPMNF
Question ID : 9489114390
Option 1 1D : 94891117557
Option 2 ID : 94891117560
Option 3 1D : 94891117559
Option 4 ID : 94891117558
Status : Answered
Chosen Option: 3
088 Qv AT S # seTae w1 3K AR Ry v geT & 3eaw &
Weight (Kg) | No. of Students
21-23 1
23-25 2
25-27 3
27-29 2
29-31 1
ol (Students) FT 3f\T sTX (Weight) faar 272
Ans x 1. .99 kg
v 2 26 kg
< 3 24 kg
< 4 28 kg
Question ID : 9489114391
Option 11D : 94891117564
Option 2 ID : 94891117563
Option 3 1D : 94891117561
Option 4 1D : 94891117562
Status : Answered
Chosen Option : 2




8 Qo arv TSt #T aemTA Fy 3R A R aw g # 3w &

Ans

Production | Year
678000 1970
698500 1980
699000 1990
715600 2000
732400 2010

3caesT (Production), ¥ (Year)
SAH ¥ HiT ¥ T I H 3cNEH g I AT ST THS fT?
v 12000 3T 2010
<2 1990 3T 1980
<3 1980 3ilT 2000
< 41990 3T 2010

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:
Chosen Option :

9489114392
94891117567
94891117568
94891117565
94891117566
Answered

2

Q.90 IfE Flower = 8, Water = 7, Too = 5, Most = 6 3T Tree

Ans

15
18
7
30

6 &, T Interdependence frEe sreT

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

9489114386
94891117544
94891117543
94891117541
94891117542
Answered

Chosen Option: 3




Q91 v wsdr o U e F o, A% A & Rar S vEedar 38 S A& oS, AN A F o T HE
&R

TEHT & I T TET Scal AT FL?

K TERTEERGHERT sTé

v 2 /e
<3 ATAT
< 4 ==

Question ID : 9489114377
Option 11D : 94891117505
Option 2 ID : 94891117507
Option 31D : 94891117508
Option 4 ID : 94891117506
Status : Answered
Chosen Option : 2

Q.92 g 3w THEF T ¥ 3 m Sea FY AR T A 3 IHEE g T 4 m9F F AR T T
7 59 Tg ¥ Toa 4% R, e deef T o AR TS ol TE o @ Aes] S AR T e
=t fr 57 fFw Rem & o2 s Bl g 9w A

MK SeRTgd, 5 m
< 2. Zf8yuT, 4.98 m
X 3. 99, 4.98 m
v Eﬁ"lUT-tlﬁ, 5m

Question ID : 9489114402
Option 11D : 94891117607
Option 2 ID : 94891117605
Option 31D : 94891117608
Option 4 ID : 94891117606
Status : Answered
Chosen Option : 4




Q.93 =T & o= (A) 3R FOT (R) F oo F 7 #R S F 99 78 g9y Tia w9 BeeT =

T H

YA

A 9T # eI FY TET €T TRT Y g § 39T # SR W e die FR A afger v i

gl

SHIIOT:

R: 9T F1T I3 F I 9 8T IET I S ST AT ;T ATHAT 74 B

e X1 AR g ¥ 3k R, A i g =zmE B

v 2 A geT g ofhd R 38T &1

X 3

A 3T R 2= o=z & afda R, A #r GEr =urETT =%t 8

X 4 A 3 R a4 3mweT 2

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489114395
94891117577
94891117580
94891117578
94891117579
Answered

2

Q94 Ffr 1 3pTEg, 2016 F THAR o, & 1 397E, 2012 F FiF @1 =7 ur?

Ans xl =
X 2 YHAR
W 3. THEARX

X 4 TTHRAY

Question ID :
Option 11D :

Option 2 ID
Option 31D
Option 4 1D

Status

9489114388
94891117550

194891117552
194891117549
194891117551
: Not Answered
Chosen Option :




Q.95 fv v 39T e F F & der A9 #:i

The flower of a fulfilling tree filled the freely available puffy furnace of Fatima's father.

Ans X113
<210
<311
V12
Question ID : 9489114397
Option 11D : 94891117588
Option 2 ID : 94891117585
Option 31D : 94891117586
Option 4 1D : 94891117587
Status : Answered
Chosen Option : 3
Q.96 v =iv RFeredl & § 30 ST #1997 FST, S STt v # weT REA (?) F T W AT
TR B
7, 4,1, 8,5 2 9 7
Ans x 1.3
<29
K37
V46
Question ID : 9489114380
Option 11D : 94891117517
Option 2 1D : 94891117520
Option 31D : 94891117519
Option 4 1D : 94891117518
Status : Answered
Chosen Option: 1
Q.97 s s —
afe N = 13 3T L = 15, ar NATIONAL = ?
Ans  of 1. 132671812132615
< 2 132671712132615
/< 3 132671212132615
< 4 132671412132615
Question ID : 9489114382
Option 11D : 94891117527
Option 2 ID : 94891117528
Option 31D : 94891117525
Option 4 ID : 94891117526
Status : Not Answered

Chosen Option :




QB8 3z FEar F T v S SRl Swer § e T 9 e

170, 197, 226, ..
Ans X 1. 287
v 2 257
<3 320
< 4 370

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

9489114387

94891117546
94891117547
94891117548
94891117545
Not Answered

Q.99 mwmmﬁwaﬁmﬁqﬁmﬁﬁaﬁmﬁmmﬁ

TF AT A T2 B B 99 g @ 3k 3

T G qET o 57
e

Tl Az Fed §
Fo el awee £
ey

A FT SEe A #
B. 3o slee Frewdr §1
C. Hrameer aee 7 g
D. F& foredr Hams ¥

As 1B, D
<2B, C
<3 A B
< 4D, C

Question ID :

Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID

Status

9489114378

1 94891117512
1 94891117510
1 94891117509
1 94891117511
: Not Answered
Chosen Option :




@190 B v Repedt F ¥ FiA T SWSIF FT AT & ToRaT T

242X 2—3-3 3 —AXE-4 =7

Ans x 1. 29
v 2 -1
<32
X 1
Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID
Status
Chosen Option :

19489114381

194891117521
194891117523
194891117524
194891117522
: Not Answered
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